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Part I: {12-points) Multiple Choice Questions (MCQ).
Bubble the Correct Answer in the OMR Sheet.

I .
1. The expression 2 cscx cos 3 simplifies to

@) o3
C32

z
(b) sec 5
(¢} tan g
{d) cot z

2. Which one of the following statements is FALSE?

-

(
{d) cot (g— 4 3) = —tan§

() F

9
(c) 5
@ -Z
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4. Which one of the following statements Is always TRUE for any two nonzero vectors u
and v and any nonzero real number &7

The vector ﬁ is & unit vector
13

(b) The vectors u and ku have the same direction
(€ vl < ffufl + v

(d) fovll = Eivi

T 3
tan —— — tan —

5. The value of 12 B ‘éﬁ is egual to
1 -+tan 2 tan —

4
qa
—t;ang

(b) tan %

(c) =tan 4?” ‘
4

(d) tan —3—

. 3T .
6. The number of solutions of the equation 2 — 2|cosz| =1 with0 < ¢z = - 1 equal to
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Part II; Written Questions. '
[Prévide neat and complete solution. Show all necessary steps for full credit.]

R m
1. (5-points) Given the function flz) = ~2sin (Qm - —LI)

(2) Find the period of f{z).

b
The Pey’,'{ng‘ —- 2 = 7C -\ PﬂJM

|

(b) Find the phase shift of the graph of f {z).
Tra phase shift = & =

— o

% |~

¢

(¢) Find the range of f(z).

| poimb
m Y‘M@Q = L" 2‘) 2‘]

T O
(d) Sketch the graph of f(z) over the interval [E’ ?] .

ma

wid
onfd

w3t
19

.. ,Dg;mj

4 . .
2. {3-points) If 0 < o < 27, find the exact value of secg given that coso = - and o is in
quadrant TV,

%34«<zx:=>%1‘¢%<7tséo<&@ﬂ

_‘___]P.ﬁrl"\o"\tw
2
_ o= . | Poimk |
Cos 2 I+ €o5eX -

6 2
A

« A - .}w..__@---:,oﬂimf
T ST E Vg =oVF T

@SE::

R
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3. (5-points) Given the vectors U= —2i+3jand v=1+23].

1 d ite directi ector u.
- {a) Find a vector of length 3 in the opposite direction of the v

— -

_-ﬁ:.ﬂ.- ‘(EQIM‘\YQQ{ V‘E"C.}GY = m_

(b) Find the measure of the smallest angle between the vectors u and v.

Let of be Ha rearvdf'ed( awu‘t =)

AT .. 1 poimE
ket P—rr

ot W . "
a0 a6 - 13 B L pe

N
= d= s ( ;;"-‘) = F (or#5) oy peint
2.

Cos o =

_ 5
4, (3-points) Solve sin~lz — tan~! (-—-1—2) = Tl

- -4
> st = E gt () |
% Sien { Sien x} Sim( —7?‘:_-++m-(-£_.)) _—— lpﬁmt
D Xz st (-£)) oo ) peimt

N
';'éz- - ' Pﬂ;Mt V2

I

TR

N\ |2
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5. {4-points) Find the standard form of the equation of the eilipse that has foci at (3,0}
" and {3,6) and vertices at (-3, ~2) and (—3,8).

= e J"ﬂ‘:f-l- 'S_“ | Pﬂm't

= TR mu«&l.af anis 13 meml
3 c:+-é)

cwd  He Conter is ot (-

= %-3=3 % --- lpaiw't

C=3-07=3 vete
-3¢} »
bl— a}—cl-ﬁ 259 = 16 -- \P””"l' ! T
+ ‘ Focas 413,4)
=) T Y"e:?/vd\“eﬂi e?»’“" pem . M 1:
2. = Center +(-33)
(x+3) N (¥-3) | ’
I 6 25 Boem A : ("3,0} ‘<
s .
("3)"1)
Vertiy
6. (4-points) Verify the identity 1;2‘::': =cscz—cotm, O0<z < il
’ | —(e3% J "r:SX U-—t’asx P’D;Mt
14 (o3 X - o5 K lm 4

H

= CosA ) (Simez € £ X< -—)

Iy

- ‘ Cﬂsx. - , Pn;mt

Siea %, - SimR
f’a?mf

= C5Cx -~ CobX ~a- |

al TEW{“QA .

Pomt
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7. (4 points) Find the vertex, focus, and directrix of the parabola given by the equation
"By —322 —12z4+4=0.

Put tha e?w’rim im Hea S’fmdjrﬂ‘l ?oﬁw\‘.
st axe 6y +4 =¥ 3(x+ix) = étl 1 =
3 (x+42) = 63+L{+l‘z = 3(xa) = 69 +6
”-*% 3( >C+l) = é(j'l'—j”)%
b(*&)z: 2. (Y f--g- ) e ) Poimt
Cmfmre with (x—-l«) —gp(Y— k} *->
| The tﬂ@fﬂ‘\Mn+@5 Q-F H..,L V@f‘f‘{'ﬂ){ M’E ( 'l \Pafmt
“omd 4P = 2 D P"—”)’z_ =

£
T ordinter of T focon 7€ | poimt

( 1, -& +-'-) (-2, F) -~ N

oA brink an
e7M f‘rm mc H—i fitléi' v Ipoimt‘

‘.-”_--u

4 2

1 i
8. (4~po1nts) Solve 2sinz — cos 2z = 5 where 0 € z < .

e | Paiw\t

= 2simx~ U~ 2Sim %) =Y
= 4 Simx- 2 +4simx = |
= dsimy #4Sm —2FO
= (2Simx-\) { 23imx +3) =0 ~---
--—} Simy = % oY  BimYE - ?yz e \.Pﬂiﬂ\t
<

| ?nf««t

:..b Tﬁ&ahﬁnﬂ PV ) }M‘f"yﬂf ]

are v T o dd 5.:..5.. L e \Ppim‘tl

XK T



